


ASSEMBLY INSTRUCTION

2114




Part List (Box 1-WF302988)

A1 i

Leg- 1pc NP

A2

Leg- 1pc

A3

WoodBar-1pc

A4

WoodBar-1pc

A5

WoodBar-1pc

A6

S

WoodBar-1pc

A7 A8 A9
5 5 >
Panel-1pc WoodBar-2pcs WoodBar-2pcs
B1 B2 B3
ﬁ %
WoodBar-1pc Panel-1pc WoodBar-2pcs
B4 B5 B6
i
n’
WoodBar-1pc Panel-1pc Side Rail-2pcs
. \ 88 / )
Side Rail-2pcs Slats-8pcs Slat2pcs
C1 C2 C3 /
Support Slats-2pcs Support Siderail-2pcs Panel-1pc

314




Part List (Box 1-WF302988)

C4 E
Panel-1pc

C5 D
Panel-1pc

C6

Panel-1pc

P

WoodBar-1pc

C8

\

WoodBar-1pc

C9)

WoodBar-1pc

D1

Panel-2pcs [

D2

WoodBar-2pcs

D3

&

WoodBar-1pc

D4

~

WoodBar-1pc

4/14




Hardware List (Box 1-WF302988)

1 2 3
@1/4" x 25 mm @1/4" x 30 mm @1/4" x 40 mm
Hex-Head bolts 8pcs Hex-Head bolts 5pcs Hex-Head bolts 4pcs
4 o 5 6
J1/4" x 50 mm M4 x 15 mm M4 x 50 mm
Hex-Head bolts 4pcs Wood Screws 4pcs Wood Screws 4pcs
/ © 8 9
§ o)»»»m)mm» Q)—»»mmmm
@1/4" x 100 mm Screws 1/4" x40 Screws 1/4" x60
Hex-Head bolts 6pcs 8pcs 12pcs
10] K 12
o)—»mmmm» ﬁ ﬁ
Screws 1/4" x80 @8 x 30 mm @10 x 40 mm
4pcs Wood dowel 2pcs Wood dowel 6pcs
13 14 15
5 (ﬁ,
O &
@1/4" x 13 mm @1/4" x 15 mm
Horizontal-Hole bolts 8pcs Canopy head though -8pcs Allen Key 1pc
16 17 18 =

M4 x 30 mm
Wood Screws 42pcs

(=2)°

Charging line for Light,
keep for further charging,
USB to micro USB

Led Light 3pcs

(

(CCcceceeeu

=

@1/4" x 70 mm
Hex-Head bolts 4pcs

=2

Assembly Tools Required (Not Included)

=




4(pcs)

STE P1 Following below illustration

STE P2 Following below illustration

6/14




<
n 0 S
Mm Mm )
o ¥ |8 I
\ g
(&)
2
O ©
)| =
O
o
<~ N
-— N

STE P3 Following below illustration
STE P4 Following below illustration




STE P5 Following below illustration.

814




STE P7 Following below illustration.

9/14




(AN

12

4(pcs)

4(pcs)

7
= \

13

(pcs)

8

18
Qﬁ’

4(pcs)

STE Pg Following below illustration




STEP1 O Following below illustration.

AR\
\ IR\

B8
BS
B8 S
B8
g 5
B9
BS
5 C1
B9

Ve

11/14




B

STEP1 1 Following below illustration

STEP1 2 Following below illustration
()'




STEP1 3 Following below illustration

STE P1 4 Following below illustration




<
-
—
<
-

17

STEP1 5 Following below illustration




